NAME:

SCORE

BASELINE \




< BASELINE 5 ...

N 6x5=__ Br 6x8=__ 60+6=___
6x7=__ 6x5=__ 66+6=__
6x8=__ 6x3=__ 48+6=__
6x4=__ 6x4=__ 30-6=__
6x3=__ 6x6=___ 42+6=__
[ 6] 6x9=__ 6x9=__ 36+6=__
6x11=___ 6x10=__ 12+6=__
BN ox12=___ 6x/=___ 6+6=__
Ex 6x3=__ 6x2=___ 54+~6=__
6x1=___ ox1=___ 66+-6=__
6x8=__ 12+6=____ 42+6=___
6x6=___ 24+6=___ 24+-6=___
6x/=___ 30+6=___ 18+6=___
6x9=__ 54+6=___ 48+6=___
6x12=___ 60+6=___ 30+6=__
6x11=____ /2+6=____ /2+6=__
6x2=__ 42+6=___ 60+6=__
6x1=___ 36+6=___ 36+6=__
6x10=____ 18+6=____ 6+6=__
6x9=__ 6+6= Y 12+6=

seore: /60 1) ¥

(5 minute limit)

N

© 2022-23 Maths Circle Ltd. Licensed to Cherry Hinton CE Primary School.



Name:
Date
éll 6x2=
B 6x3-
gll 6x4=
%El 6x5=
i@ 6x6-
%ﬂl 6x7=
Bl 6x8-=
E¥ 6x9=
I 6x10=
B 6x11=
B 6x12=
Continue here...
[13 ] 6x7=
I 6x12=
15 ] 6x8=
B 6x12=
I o6x10=
18] 6x9-=
Y 6x11=
(20 6x3=

N No N No N
o U EAN w N

~

w w w w w
Ne) (0] ~l (@) Ul A~

N
o

w ) w ) w N N N )
¢ : ! . ‘ ! : vy N = o O & ; ‘ ! : ' ! =

5’5 SCORE:
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MULTIPLICATION 1

Practise 6s
6x9=

=

EE BRSNS EEEERRRBEEER
SO [ OO N~ I O N " B -~ N - ™ B — B O B O [ CO N~ I O B " I - B - " B -

U
O

Grown-ups:

Can learners spot links
between neighbouring

questions?

6Xx5=
6x3=
6Xx2=
6x12=
6x10=
6x11=
6x1=
6x5=
6Xx7=
6x8=
6x11=
6x10 =
6X6=
6Xx9=
6x4=
6x3=
6%x6=
6Xx9=
6x11=

&



Complete first and then use it to help you if you get stuck.

X
o
@)
~
w
®)
X

B ox1= _ B 1x6= __
B o6x2= _ = W 2x6= _
B 6x3= _ = B 3x6= __
B 6x4= = W 4x6= __
B 6x5= _ = W 5x6= _
B o6x6= _ 6x6= __
BA ox7= B 7x6= _______
B 6x8= _ 8x6= _____
B 6x9= ___ I9x6= __
¥ 6x10= __ B¥ 10x6= __
B ox11= _ EBY 11x6= __
B 6x12= _ B¥ 12x6= ______
tinueZe)r(eé.z— Ix6=_
- 6x1= [34] 8x6=__
o 5xg= = 6x9=__
] 6x6= Ed 11x6=__
6x7= 6x12=__
6x5=_ 6x11=___
2x6=__ ox7/7=__
6x4= 1x6=

Qﬁg SCORE:
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MULTIPLICATION 2

Practise 6s
3X6=

—_

EE BRSNS EEEERRRBEEER
d B N R OB OB B N O HOE BN N O BN BB OB B B

N
%)

N
©

51

5

N

53

54

(O]
Ul

Grown-ups:

Can learners spot links
between neighbouring

questions?

6Xx5=
8§X6=
6Xx7=
6x8=
12x6=
6x4=
2X6=
6x1=
5X6=
1M x6=
1x6=
12x6=
7X6=
Ox6=
6X6=
5X6=
Ox6=
3x6=
6x3=

&



Name: MISSING NUMBER 1

Complete first and then use it to help you if you get stuck.

Date: Practise 6s
6x =30 6x =12
N 6x = B ex =12 B 6x ___ =18
6x =12 6x =36 6% ____ =6
ox — =18 6x =72 6x =30
0 —— = 6x __ =60 6x =42
6x =30

B o« -3 6x __ =54 6x =24
6x  —a 6x =66 6x _ =48
B 6x  -43 6x =42 6x =72
B 6x =54 6x =24 6x __ =60
6x =60 6x =18 6x =54
6x =66 6x _ = 6x __ =36
R — 6x ___ =66 6x __ =18
t"g‘:“ere o 6x =48 6x =66
ox -6 6x ___ =30 6x =6
6 x - 60 6x = 6x __ =12
6 x :=54 6x _ =24 6x =42
6x =72 6x =36 6x __ =30
6x =66 6x __ =42 6x __ =48
6x =48 6x __ =54 6x __ =54
6 x =42 6 X =72 [E¥ 6x = 60

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
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tuck.

Name: MISSING NUMBER 2

Complete first and then use it to help you if you get s

Date: Practise 6s
N o 4x_ =24
6 X =6 1 x =6 B 6 x =12
6>< :12 2)( =12 6X =48
6 X =18 K 3x =18 19 x .
6 X =24 [ 4x =24

6 X =36
B 6x =30 5 x =30

7 % =42
6 X =36 6 X =36
6 x =42 7 x =42 bx_ =>4
6 x =48 8 =48 Mx_____ =66
6 x =54 9 x =54 6 x =60
6 X =60 BE¥ 10x = 60 6 x -
6 X =66 B 11x =66 6 x =72
6 X =72 12X =72 6 x =18
Continue here... 6 x _ o4
6x___ =54 1 x =6
9 x =54 BN 11x - 66 o x =30
6 x - 36 9 x - 54 6x______=60
7 x - 42 6 x =72 2x__ =12
8 x = 48 6 x =42 8x___ =48
6 X = 66 5 x =30 Tx__ =
EBF 12 x =72 6 x =36 9 x =54
6 x = 3 x =18 B 12 x =72

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
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Complete first and then use it to help you if you get stuck.

ame: DIVISION 1

Date: Practise 6s
66+6=______ 4E06=
6+6= 54+6= 48 + 6=
12+6= 30+6= 12+ 6=
18%6= 24+ 6= 36+ 6=
24+ 6=
- 18+6= 42 ~6 =
30+6=
B 66 36+6= 36+6=
49+ 6 = 72+6= 30+6=___
B /8:6- 48 + 6= 48+6=__
N 54:6= 24+6= 12+6=
60+ 6= 60 +6= 6+6=
66+ 6= _ 66 + 6= _ 24+6=___
Rl — 54+ 6= 54+ 6=
tinu;;e.reé._ 4D =6 = 18+ 6 =
48+ 6 = 6+6= 48 +6 =
0 6o 30+6= 66+ 6=
3662 48+ 6= 60+6=___
66+ 6= 72+6= 72+6=—
6+6= 18+6= 42+-6=__
18+ 6= 6+6= 30+ 6=
42 +6= 36+6= Y 36+6=__
Grown-ups:
[ ] Can learners spot links
Q % sco R E ] \ between neighbouring %
questions?
7
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Name:
Date
%ll 6+6= [ 2] 6+1=
éal 12+6= B 12:2=
ggg 18+ 6= B 18-3=
4EM  24+6= B 24+4=
i  30:6- M@ 30:5-
%ﬂﬂ 36+6= Bl 36+6=
%ma 42 +6= B 42+:7-=
umi 48 + 6= I 48+:8=
B2 54-6-= B 54-+9-=
B 60+6= B 60+10=
Bl 66+6= B 66+11=
B 72+6= B 72+12=
Continue here...
30+5=__ 36+6=__
18+6=___ 30+6=__
30+6=___ 36+6=__
60+6=___ 54+9=__
EEYy 18+3=__ B 66+11=___
6+6=___ 54+6=__
6+1=___ 24+6=_____
12+6= 42 +7 =

Qﬁg SCORE:

N
N AN

N
w

EE RSN EREEEREEREEEEREA
a N N O OB OB OB ONM O OHOEE OB O N O B B B N B

N
0%

N
©

Ul Ul Ul Ul Ul Ul Ul Ul
oo ~l o Ul AN w N

(o)
O

Grown-ups:
Can learners spot links
between neighbouring

questions?

© 2022-23 Maths Circle Ltd. Licensed to Cherry Hinton CE Primary School.

DIVISION 2

Practise 6s
48+ 8=

36+ 6=
30+ 6=
72+12=
60+ 6=
18+6=
42 +6 =

6+1=
66 + 6=
24 + 4=
24+ 6=
48 + 6 =
54+9=
48 + 8 =
60+ 6=
36+ 6=
12+2=
18+3=
42 +6 =
30+5=

&



—_

—_

—_

N

CHECK 1 &~ ...

R

6x8=__ BN 6x8=__ 12+6=__
6x2=___ 6x10=____ 60+-6=__
6x9=__ 6x12=____ 48+6=___
6x4=__ 6x9=__ 6+-6=__
6x3=__ 6x2=__ 30+6=___
[ 6] 6x6=___ 6x1=____ 54+-6=__
6x7=__ 6x5=__ 42+~6=__
B o6x10=___ 6x4=___ 6+6=__
EN ox12=___ 6x3=__ 48+6=___
6x1=___ b6x6=___ /12+6=___
6x9=__ 18+6=____ 24+~6=___
6x2=__ 36+6=___ 36+6=__
6x11=____ 54+6=___ 30+6=___
6x/7=____ 30+6=____ 18+6=___
6x9=__ 60+6=___ 60+b6=__
6x4=__ 6+6=__ 66+6=__
6x3=__ 42+6=___ 54+6=__
6x6=___ 72+6=___ 6+6=__
6x1=___ 48+6=___ 12+6=___
6x5=__ 24 +6= E¥ 54+6=

seore: 760 [T ¥

(5 minute limit)

No)
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Name: MULTIPLICATION 3
Date: Practise 6s
5x6=___ 8xb6=____ ox1=__
3x6=__ 1x6=__ 12x6=___
6x3=__ 2X6=___ 6x11=___
7x6=___ 6x4=__ 7x6=___
4x6=__ 6x6=__ 1x6=___
[ 6| 6x7=___ 6x9=__ 3x6=__
6x5=__ 12x6=____ 6x12=___
B 8x6=__ 6x11=___ 6x9=__
EX 6x9=__ 1x6=___ 6x6=__
Mx6=___ 6x7=___ 6x3=__
6x12=__ Mx6=____ 6x5=__
12x6=___ 5x6=__ 6x10=__
6x9=__ 3xb=___ 5x6=__
10x6=___ 3x10=___ 6x8=__
/x6=___ 6x/7=___ 2x6=__
6x6=___ 4x6=___ 4x6=___
6x3=___ 3xb=___ 6x7=___
6x1=___ 6x2=__ 6x9=__
6x4=__ 6x9=__ 8x6=___
6x8=__ 8x6=___ K 6x6=___
22475 SCORE: | e S

| 10
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Name: MISSING NUMBERS 3
Date: Practise 6s
EN 6x __ =66 BN 6x __ =24 BEN6x _______ =6
6x =72 BA12x___ =72 BA11x______ =66
BY 7x _ =42 Bl e6x __ =48 B 6x =48
PN 6x _ =30 B 7x ___ =42 PBE¥9x __ =54
B¥ ox _ = =54 B¥ 5x__ =30 EBEl6x______ =54
N o6x =36 Bl 6x___ =36 KB 6x______ =60
BN 6x _ =36 Bl 6x____ =12 Bl 6x =24
B 4x _ =24 B¥ 1x ___ =6 B 2x_____ =12
E¥ ox _ = =54 BN 6x ___ =60 EXN 1x ____ =6
I 3x _ =18 E¥ 6x __ =66 E¥ 6x __ =48
B 6x _ =12 BN 9x ___ =54 BN 6x _______ =36
B 1x = B 4x =24 BA 4x ______ =24
BBy 6x = EsY 6x _ =18 B¥ 6x ______ =30
I 6x =60 EF6x__ =60 BE¥6Xx __ =42
B 6x _ = =66 B 6x__ =18 B 9x __ =54
B 7x =42 EBEI¥ 5x__ =30 BEF 6x _____ =66
5x _ =30 6x _ =54 BH12x___ =72
B 8x _ =48 EF 4x __ =24 BEA 6x =72
By 6x _ =24 E¥ 6% __ = EY 6x __ =18
6 X =42 6 X =36 E¥ 9x =54

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
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DIVISION 3
Date: Practise 6s
42 +7 = 72+6= 48+6=__
42+6=__ 36+6=___ 54+6=____
18+3=___ 54+6=___ 42+7=__
54+2=___ 42+7=___ 66+11=___
12+6=___ 18+6=___ 66+6=___
B 24+-4=__ 60+6=__ 6+1=___
60+6=___ 30+5=___ 60+6=__
B 66+11=__ 42+6=___ 54+9=__
EN o66+6=__ 24+4=___ 48+8=__
42+6=___ 36+6=___ 24+6=______
30+5=__ 24+6=___ 24+4=___
72+12=____ 18+3=____ 36+6=__
72+6=___ 54+9=__ 18+6=___
48+6=___ 60+6=__ 42+6=__
66+-6=__ 66+-6=__ 18+3=__
30+6=__ 60+-6=__ 72+6=______
36+6=____ 72+12=____ 36+6=__
18+6=___ 6+1=__ 30+6=__
18+3=__ 6+b6=__ 12+2=__
54+9= 48 + 8 = By 12+6=

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
12
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Name: MULTIPLICATION 4
Date: Practise 6s
6x12=___ 6x1=___ 3x6=__
6x11=____ 4x6=___ 2x6=___
8xb=____ 6x4=__ 6x8=__
6x9=__ 3x6=___ 4x6=__
/x6=___ 6x6=___ O9x6=__
[ 6| 5x6=___ 6x9=__ 6x1=__
6x6=___ 8xb=____ ox11=___
B Ax6=___ 10x6=___ 6x12=__
EX 6x3=__ 6x11=____ /x6=__
3x6=____ 6x6=___ 6x10=__
b6x6=___ b6x6=___ ox4=__
6x7=___ 6x9=__ O9x6=__
6x10=___ 6x3=__ 6xb=__
12x6=____ 6x5=__ 8x6=__
6x11=____ 8x6=___ ox4=__
6x6=__ Mx6=__ 6x11=___
8xb=____ /x6=___ 3x6=__
3x6=___ 6x1=___ 10x6=___
6x2=__ 6x2=__ 6x6=____
1x6= 5x6= (60 ] 6x9=

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
13
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Name:
Date:

6x__ =36 6 X
Ox___ =54 6 X

8x__ =48 3

4x__ =24 6 x
6x___ =18 6 x

W 6x_ =30 6 x

6x =36 6 X

B 6x__ = 8 X

BN 6x =12 6 X

6x__ =60 EW 12x__
KN 12 x =72 6 X
6x____ =36 2 x

6 x =42 6 x
1x____ =6 6 X
6x__ =12

6X___ =66 E¥ 12x__
Ox =54 9 x

6x =60 6 X

6x =36 6 X

6 X =42 8 X

© 2022-23 Maths Circle Ltd. Licensed to Cherry Hinton CE Primary School.

6 X

MISSING NUMBERS 4

_ =30
=24
_ =18
_ =36

=42
=30

=54
= 48
=6

=72
=18

=12
=36
=12

=72
=54

=24
=18
=48

e B~
N N

AL AL
Ul w

E R EBEEEBEEEEBEBEA

48

49

50

Ul
—

U7 - U
E B &

6 X
5 x
6 X

] X

Grown-ups:
Can learners spot links
between neighbouring
questions?

Practise 6s

=36
=30
=60



Name: DIVISION 4
Date: Practise 6s
72+6=___ 60+6=__ 72+6=__
54+6=___ 72+6=___ 6+1=__
6+1=__ 66+11=___ 6+-6=__
6+6=__ 42+6=___ 24+6=___
54+9=__ 42+7=___ 42+7=___
B 48+6=____ 24+6=___ 42+6=___
30+6=___ 30+6=____ 54+9=__
B 36+6=__ 54+6=___ e0+6=__
EY 42+7=__ 54+9=__ 66+6=__
60+6=___ 48+6=___ 12+6=___
18+3=_____ 36+6=____ 66 +11=___
12+2=____ 24+4=__ 36+6=__
30+6=___ 6+6=__ 72+12=___
36+6=___ 30+5=___ 24+-6=__
54+6=____ 42+7=____ 42+6=__
24+6=____ 12+6=____ 36+6=__
24+4=______ 54+9=__ 6+6=__
48+8=____ 18+6=_____ 12+2=__
6+b6=__ 66+11=___ 60+6=__
72+12= 36+6= (60 6+1=

Grown-ups:

[ ] Can learners spot links
[ between neighbouring
questions?
15
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Q CHECK 2 ..

6x9=___ BN 6x3=__ 6+-6=__
6x4=__ 6x10=___ 54+6=__
6x12=____ 6x2=__ 42+6=__
6x3=__ 6x4=__ 66+6=__
6x6=___ 6x8=__ 12+6=___
B o6x10=___ 6x6=___ e0+6=__
6x7=__ 6x12=__ 72+6=___
B 6x2=__ 6x5=__ 6+6=__
Ex 6x1=__ 6x1=___ 18+6=___
6x8=__ 6x/7=___ 48+6=___
ox4=__ 54+6=___ 24+-6=__
6x5=__ 30+6=____ 42+6=___
ox/7=___ 24+6=___ 18+6=___
6x6=___ 54+6=___ 66+6=__
6x9=__ 66+6=__ e0+6=___
6x12=____ 18+6=____ 30+6=___
6x1=___ 36+6=____ 12+6=___
6x11=____ 42+6=___ 42+6=__
6x9=__ 30+6=___ 36+6=__
bx/=__ 48 +6 = 60 ] 6+6=

score: /60 1) ¥

(5 minute limit)
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